
ASSIGNMENT NO.2(chapter one) 

IMPORTANT CONCEPTS:- 

  

INDIAN SYSTEM OF NUMERATION: Commonly used values in  table  

 

CRORES LAKHS THOUSANDS ONES 

TEN 

CRORES 

CRORES TEN 

LAKHS 

LAKHS TEN 

THOUSANDS 

THOUSANDS HUNDREDS TENS UNITS 

 

INTERNATIONAL SYSTEM OF NUMERATION : Commonly used values in  table 

 

MILLIONS THOUSANDS ONES 

HUNDRED 

MILLIONS 

TEN 

MILLLIONS 

MILLIONS HUNDRED 

THOUSANDS 

TEN 

THOUSAND 

THOUSANDS HUNDREDS TENS ONES 

     

Q1. Write  the  numbers in according to Indian or international system of numeration  in words 

a) 19,15,60,050 

b) 20,48,74,873 

c) 97,97,97,997 

d) 507,476,123 

e) 100,005,567 

 

Q2. Write  the  numbers in according to Indian or international system of numeration  in numerals 

a) Five crores,five lakhs,five thousands 

b) Fifty six crores,nineteen lakh,eight thousand and fifteen 

c) One hundred ten million,two hundred thousand and three hundred forty eight 

d) Two hundred thirty four million,eighteen thousand  and three hundred forty eight 

e) One million,one thousand and one 

f) One crore,one lakh,one thousand,one hundred and one 

 

Q3. Write each of the following in the Expanded notation form 

a) 8,40,32,167 

b) 90,909,090 

c) 17,865,432 

d) 6,05,43,091 

e) 10,00,976 
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Q4. Write the Expanded notation form in numerals for the following 

a) 1,00,00,000+70,00,000+6,00,000+40,000+3,000+800+20+5 

b) 4×10,00,000+6×100,000+3×10,000+7×1000+1×100+7×10 

c) 90,00,000+40,000+3000+20+6 

d) 8×10,00,000+6×1000+3×10+1 

 

Q5. How many numbers exist between 51 and 100? 

 

Q6. How many thousands make a million? 

 

Q7. How many millions make a billion? 

 

Q8. How many lakhs make a million 

 

Q9. How many millions make ten crores? 

 

Q10. Fill in the gap: 

a. 1 crore=_____lakhs 

b. 1 Millions=______thousands 

c. 10 crores=_______millions 

d. 1 Hundred thousand=______lakhs 
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